

①

$$\begin{array}{r} 123 \\ 7 \overline{) 861} \\ \underline{7} \\ 16 \\ \underline{14} \\ 21 \\ \underline{21} \\ 0 \end{array}$$

②

$$\begin{array}{r} 21 \\ 7 \overline{) 147} \\ \underline{14} \\ 7 \\ \underline{7} \\ 0 \end{array}$$

③

$$\begin{array}{r} 147 \\ 6 \overline{) 886} \\ \underline{6} \\ 28 \\ \underline{24} \\ 46 \\ \underline{42} \\ 4 \end{array}$$

④

$$\begin{array}{r} 128 \\ 7 \overline{) 896} \\ \underline{7} \\ 19 \\ \underline{14} \\ 56 \\ \underline{56} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 109 \\ 5 \overline{) 549} \\ \underline{5} \\ 4 \\ \underline{0} \\ 49 \\ \underline{45} \\ 4 \end{array}$$

⑥

$$\begin{array}{r} 67 \\ 7 \overline{) 471} \\ \underline{42} \\ 51 \\ \underline{49} \\ 2 \end{array}$$

⑦

$$\begin{array}{r} 201 \\ 4 \overline{) 804} \\ \underline{8} \\ 0 \\ 0 \\ \underline{} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 100 \\ 8 \overline{) 805} \\ \underline{8} \\ 0 \\ 0 \\ \underline{} \\ 5 \\ \underline{0} \\ 5 \end{array}$$

⑨

$$\begin{array}{r} 166 \\ 2 \overline{) 332} \\ \underline{2} \\ 13 \\ \underline{12} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

①

$$\begin{array}{r} 51 \\ 2 \overline{) 102} \\ \underline{10} \\ 2 \\ \underline{2} \\ 0 \end{array}$$

②

$$\begin{array}{r} 48 \\ 6 \overline{) 288} \\ \underline{24} \\ 48 \\ \underline{48} \\ 0 \end{array}$$

③

$$\begin{array}{r} 153 \\ 4 \overline{) 615} \\ \underline{4} \\ 21 \\ \underline{20} \\ 15 \\ \underline{12} \\ 3 \end{array}$$

④

$$\begin{array}{r} 208 \\ 3 \overline{) 625} \\ \underline{6} \\ 2 \\ \underline{0} \\ 25 \\ \underline{24} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 67 \\ 2 \overline{) 135} \\ \underline{12} \\ 15 \\ \underline{14} \\ 1 \end{array}$$

⑥

$$\begin{array}{r} 76 \\ 4 \overline{) 304} \\ \underline{28} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 64 \\ 9 \overline{) 576} \\ \underline{54} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 303 \\ 3 \overline{) 909} \\ \underline{9} \\ 0 \\ \underline{0} \\ 9 \\ \underline{9} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 18 \\ 9 \overline{) 162} \\ \underline{9} \\ 72 \\ \underline{72} \\ 0 \end{array}$$

①

$$\begin{array}{r} 165 \\ 2 \overline{) 330} \\ \underline{2} \\ 13 \\ \underline{12} \\ 10 \\ \underline{10} \\ \phantom{}0 \end{array}$$

②

$$\begin{array}{r} 102 \\ 5 \overline{) 514} \\ \underline{5} \\ 1 \\ \underline{0} \\ \phantom{}14 \\ \underline{\phantom{}10} \\ \phantom{\phantom{}}4 \end{array}$$

③

$$\begin{array}{r} 413 \\ 2 \overline{) 826} \\ \underline{8} \\ 2 \\ \underline{2} \\ \phantom{}6 \\ \underline{\phantom{}6} \\ \phantom{\phantom{}}\phantom{}0 \end{array}$$

④

$$\begin{array}{r} 128 \\ 6 \overline{) 768} \\ \underline{6} \\ 16 \\ \underline{12} \\ 48 \\ \underline{48} \\ \phantom{}0 \end{array}$$

⑤

$$\begin{array}{r} 65 \\ 4 \overline{) 262} \\ \underline{24} \\ 22 \\ \underline{20} \\ \phantom{}2 \end{array}$$

⑥

$$\begin{array}{r} 107 \\ 4 \overline{) 431} \\ \underline{4} \\ 3 \\ \underline{3} \\ \phantom{}1 \\ \underline{\phantom{}0} \\ \phantom{\phantom{}}\phantom{}1 \\ \underline{\phantom{\phantom{}}\phantom{}28} \\ \phantom{\phantom{\phantom{}}\phantom{}}3 \end{array}$$

⑦

$$\begin{array}{r} 365 \\ 2 \overline{) 730} \\ \underline{6} \\ 13 \\ \underline{12} \\ 10 \\ \underline{10} \\ \phantom{}0 \end{array}$$

⑧

$$\begin{array}{r} 45 \\ 9 \overline{) 407} \\ \underline{36} \\ 47 \\ \underline{45} \\ \phantom{}2 \end{array}$$

⑨

$$\begin{array}{r} 68 \\ 8 \overline{) 544} \\ \underline{48} \\ 64 \\ \underline{64} \\ \phantom{}0 \end{array}$$

①

$$\begin{array}{r} 322 \\ 3 \overline{) 966} \\ \underline{9} \\ 6 \\ \underline{6} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

②

$$\begin{array}{r} 104 \\ 9 \overline{) 941} \\ \underline{9} \\ 4 \\ \underline{0} \\ 41 \\ \underline{36} \\ 5 \end{array}$$

③

$$\begin{array}{r} 40 \\ 5 \overline{) 203} \\ \underline{20} \\ 3 \\ \underline{0} \\ 3 \end{array}$$

④

$$\begin{array}{r} 132 \\ 3 \overline{) 396} \\ \underline{3} \\ 9 \\ \underline{9} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 212 \\ 3 \overline{) 636} \\ \underline{6} \\ 3 \\ \underline{3} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 42 \\ 8 \overline{) 336} \\ \underline{32} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 189 \\ 3 \overline{) 567} \\ \underline{3} \\ 26 \\ \underline{24} \\ 27 \\ \underline{27} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 86 \\ 4 \overline{) 346} \\ \underline{32} \\ 26 \\ \underline{24} \\ 2 \end{array}$$

⑨

$$\begin{array}{r} 102 \\ 6 \overline{) 616} \\ \underline{6} \\ 1 \\ \underline{0} \\ 16 \\ \underline{12} \\ 4 \end{array}$$

①

$$\begin{array}{r} 120 \\ 8 \overline{) 967} \\ \underline{8} \\ 16 \\ \underline{16} \\ 70 \\ \underline{ 70} \\ 70 \\ \underline{ 70} \\ 70 \\ \underline{ 70} \\ 0 \\ \underline{ 0} \\ 7 \end{array}$$

②

$$\begin{array}{r} 298 \\ 2 \overline{) 596} \\ \underline{4} \\ 19 \\ \underline{18} \\ 16 \\ \underline{ 16} \\ 16 \\ \underline{ 16} \\ 0 \end{array}$$

③

$$\begin{array}{r} 88 \\ 6 \overline{) 532} \\ \underline{48} \\ 52 \\ \underline{ 48} \\ 4 \\ \underline{ 4} \\ 0 \end{array}$$

④

$$\begin{array}{r} 271 \\ 3 \overline{) 813} \\ \underline{6} \\ 21 \\ \underline{21} \\ 30 \\ \underline{ 30} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 72 \\ 8 \overline{) 583} \\ \underline{56} \\ 23 \\ \underline{ 16} \\ 7 \end{array}$$

⑥

$$\begin{array}{r} 55 \\ 2 \overline{) 110} \\ \underline{10} \\ 10 \\ \underline{ 10} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 102 \\ 6 \overline{) 612} \\ \underline{6} \\ 10 \\ \underline{ 0} \\ 12 \\ \underline{ 12} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 93 \\ 9 \overline{) 839} \\ \underline{81} \\ 29 \\ \underline{ 27} \\ 2 \end{array}$$

⑨

$$\begin{array}{r} 24 \\ 5 \overline{) 122} \\ \underline{10} \\ 22 \\ \underline{ 20} \\ 2 \end{array}$$

①

$$\begin{array}{r} 172 \\ 3 \overline{) 518} \\ \underline{3} \\ 21 \\ \underline{21} \\ 8 \\ \underline{6} \\ 2 \end{array}$$

②

$$\begin{array}{r} 442 \\ 2 \overline{) 884} \\ \underline{8} \\ 8 \\ \underline{8} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

③

$$\begin{array}{r} 432 \\ 2 \overline{) 864} \\ \underline{8} \\ 6 \\ \underline{6} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

④

$$\begin{array}{r} 48 \\ 8 \overline{) 386} \\ \underline{32} \\ 66 \\ \underline{64} \\ 2 \end{array}$$

⑤

$$\begin{array}{r} 143 \\ 3 \overline{) 430} \\ \underline{3} \\ 13 \\ \underline{12} \\ 10 \\ \underline{9} \\ 1 \end{array}$$

⑥

$$\begin{array}{r} 70 \\ 6 \overline{) 420} \\ \underline{42} \\ 0 \\ \underline{0} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 105 \\ 7 \overline{) 737} \\ \underline{7} \\ 3 \\ \underline{0} \\ 37 \\ \underline{35} \\ 2 \end{array}$$

⑧

$$\begin{array}{r} 117 \\ 2 \overline{) 234} \\ \underline{2} \\ 3 \\ \underline{2} \\ 14 \\ \underline{14} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 47 \\ 5 \overline{) 238} \\ \underline{20} \\ 38 \\ \underline{35} \\ 3 \end{array}$$

①

$$\begin{array}{r} 204 \\ 4 \overline{) 816} \\ \underline{8} \\ 1 \\ \underline{0} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

②

$$\begin{array}{r} 221 \\ 4 \overline{) 884} \\ \underline{8} \\ 8 \\ \underline{8} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

③

$$\begin{array}{r} 104 \\ 7 \overline{) 731} \\ \underline{7} \\ 3 \\ \underline{0} \\ 31 \\ \underline{28} \\ 3 \end{array}$$

④

$$\begin{array}{r} 42 \\ 4 \overline{) 171} \\ \underline{16} \\ 11 \\ \underline{8} \\ 3 \end{array}$$

⑤

$$\begin{array}{r} 287 \\ 3 \overline{) 861} \\ \underline{6} \\ 26 \\ \underline{24} \\ 21 \\ \underline{21} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 398 \\ 2 \overline{) 797} \\ \underline{6} \\ 19 \\ \underline{18} \\ 17 \\ \underline{16} \\ 1 \end{array}$$

⑦

$$\begin{array}{r} 206 \\ 2 \overline{) 412} \\ \underline{4} \\ 1 \\ \underline{0} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 102 \\ 8 \overline{) 818} \\ \underline{8} \\ 1 \\ \underline{0} \\ 18 \\ \underline{16} \\ 2 \end{array}$$

⑨

$$\begin{array}{r} 173 \\ 3 \overline{) 519} \\ \underline{3} \\ 21 \\ \underline{21} \\ 9 \\ \underline{9} \\ 0 \end{array}$$

①

$$\begin{array}{r} 93 \\ 7 \overline{) 656} \\ \underline{63} \\ 26 \\ \underline{21} \\ 5 \end{array}$$

②

$$\begin{array}{r} 104 \\ 5 \overline{) 522} \\ \underline{5} \\ 2 \\ \underline{0} \\ 22 \\ \underline{20} \\ 2 \end{array}$$

③

$$\begin{array}{r} 129 \\ 5 \overline{) 645} \\ \underline{5} \\ 14 \\ \underline{10} \\ 45 \\ \underline{45} \\ 0 \end{array}$$

④

$$\begin{array}{r} 117 \\ 4 \overline{) 468} \\ \underline{4} \\ 6 \\ \underline{4} \\ 28 \\ \underline{28} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 79 \\ 6 \overline{) 478} \\ \underline{42} \\ 58 \\ \underline{54} \\ 4 \end{array}$$

⑥

$$\begin{array}{r} 54 \\ 5 \overline{) 270} \\ \underline{25} \\ 20 \\ \underline{20} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 176 \\ 3 \overline{) 528} \\ \underline{3} \\ 22 \\ \underline{21} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 17 \\ 8 \overline{) 143} \\ \underline{8} \\ 63 \\ \underline{56} \\ 7 \end{array}$$

⑨

$$\begin{array}{r} 108 \\ 9 \overline{) 972} \\ \underline{9} \\ 7 \\ \underline{0} \\ 72 \\ \underline{72} \\ 0 \end{array}$$

①

$$\begin{array}{r} 107 \\ 7 \overline{) 754} \\ \underline{7} \\ 50 \\ \underline{50} \\ 49 \\ \underline{49} \\ 0 \end{array}$$

②

$$\begin{array}{r} 203 \\ 2 \overline{) 406} \\ \underline{4} \\ 00 \\ \underline{00} \\ 60 \\ \underline{60} \\ 0 \end{array}$$

③

$$\begin{array}{r} 102 \\ 5 \overline{) 512} \\ \underline{5} \\ 10 \\ \underline{10} \\ 20 \\ \underline{20} \\ 0 \end{array}$$

④

$$\begin{array}{r} 66 \\ 6 \overline{) 396} \\ \underline{36} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 172 \\ 5 \overline{) 862} \\ \underline{5} \\ 36 \\ \underline{35} \\ 12 \\ \underline{10} \\ 2 \end{array}$$

⑥

$$\begin{array}{r} 301 \\ 3 \overline{) 905} \\ \underline{9} \\ 00 \\ \underline{00} \\ 50 \\ \underline{30} \\ 20 \end{array}$$

⑦

$$\begin{array}{r} 160 \\ 2 \overline{) 320} \\ \underline{2} \\ 12 \\ \underline{12} \\ 00 \\ \underline{00} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 148 \\ 2 \overline{) 296} \\ \underline{2} \\ 9 \\ \underline{8} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 68 \\ 8 \overline{) 545} \\ \underline{48} \\ 65 \\ \underline{64} \\ 1 \end{array}$$

①

$$\begin{array}{r} 196 \\ 5 \overline{) 980} \\ \underline{5} \\ 48 \\ \underline{45} \\ 30 \\ \underline{30} \\ 0 \end{array}$$

②

$$\begin{array}{r} 205 \\ 3 \overline{) 615} \\ \underline{6} \\ 10 \\ \underline{0} \\ 15 \\ \underline{15} \\ 0 \end{array}$$

③

$$\begin{array}{r} 148 \\ 6 \overline{) 888} \\ \underline{6} \\ 28 \\ \underline{24} \\ 48 \\ \underline{48} \\ 0 \end{array}$$

④

$$\begin{array}{r} 118 \\ 7 \overline{) 826} \\ \underline{7} \\ 12 \\ \underline{7} \\ 56 \\ \underline{56} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 108 \\ 7 \overline{) 756} \\ \underline{7} \\ 50 \\ \underline{50} \\ 56 \\ \underline{56} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 110 \\ 9 \overline{) 998} \\ \underline{9} \\ 99 \\ \underline{99} \\ 80 \\ \underline{80} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 104 \\ 9 \overline{) 940} \\ \underline{9} \\ 40 \\ \underline{0} \\ 40 \\ \underline{36} \\ 40 \\ \underline{36} \\ 4 \end{array}$$

⑧

$$\begin{array}{r} 76 \\ 2 \overline{) 153} \\ \underline{14} \\ 13 \\ \underline{12} \\ 1 \end{array}$$

⑨

$$\begin{array}{r} 21 \\ 8 \overline{) 171} \\ \underline{16} \\ 11 \\ \underline{8} \\ 3 \end{array}$$

①

$$\begin{array}{r} 318 \\ 2 \overline{) 637} \\ \underline{6} \\ 3 \\ \underline{2} \\ 17 \\ \underline{16} \\ 1 \end{array}$$

②

$$\begin{array}{r} 225 \\ 4 \overline{) 902} \\ \underline{8} \\ 10 \\ \underline{8} \\ 22 \\ \underline{20} \\ 2 \end{array}$$

③

$$\begin{array}{r} 107 \\ 7 \overline{) 750} \\ \underline{7} \\ 5 \\ \underline{0} \\ 50 \\ \underline{49} \\ 1 \end{array}$$

④

$$\begin{array}{r} 149 \\ 6 \overline{) 896} \\ \underline{6} \\ 29 \\ \underline{24} \\ 56 \\ \underline{54} \\ 2 \end{array}$$

⑤

$$\begin{array}{r} 130 \\ 2 \overline{) 260} \\ \underline{2} \\ 6 \\ \underline{6} \\ 0 \\ 0 \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 373 \\ 2 \overline{) 746} \\ \underline{6} \\ 14 \\ \underline{14} \\ 6 \\ 6 \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 100 \\ 4 \overline{) 400} \\ \underline{4} \\ 0 \\ 0 \\ \underline{0} \\ 0 \\ 0 \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 139 \\ 7 \overline{) 973} \\ \underline{7} \\ 27 \\ \underline{21} \\ 63 \\ \underline{63} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 105 \\ 9 \overline{) 947} \\ \underline{9} \\ 4 \\ \underline{0} \\ 47 \\ \underline{45} \\ 2 \end{array}$$

①

$$\begin{array}{r} 68 \\ 2 \overline{) 137} \\ \underline{12} \\ 17 \\ \underline{16} \\ 1 \end{array}$$

②

$$\begin{array}{r} 155 \\ 3 \overline{) 465} \\ \underline{3} \\ 16 \\ \underline{15} \\ 15 \\ \underline{15} \\ 0 \end{array}$$

③

$$\begin{array}{r} 243 \\ 4 \overline{) 973} \\ \underline{8} \\ 17 \\ \underline{16} \\ 13 \\ \underline{12} \\ 1 \end{array}$$

④

$$\begin{array}{r} 18 \\ 8 \overline{) 146} \\ \underline{8} \\ 66 \\ \underline{64} \\ 2 \end{array}$$

⑤

$$\begin{array}{r} 202 \\ 2 \overline{) 404} \\ \underline{4} \\ 0 \\ 0 \\ \underline{4} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 103 \\ 4 \overline{) 414} \\ \underline{4} \\ 1 \\ 0 \\ \underline{14} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 70 \\ 8 \overline{) 560} \\ \underline{56} \\ 0 \\ 0 \\ \underline{0} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 127 \\ 7 \overline{) 889} \\ \underline{7} \\ 18 \\ \underline{14} \\ 49 \\ \underline{49} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 167 \\ 4 \overline{) 669} \\ \underline{4} \\ 26 \\ \underline{24} \\ 29 \\ \underline{28} \\ 1 \end{array}$$

①

$$\begin{array}{r} 48 \\ 5 \overline{) 240} \\ \underline{20} \\ 40 \\ \underline{40} \\ 0 \end{array}$$

②

$$\begin{array}{r} 60 \\ 4 \overline{) 240} \\ \underline{24} \\ 0 \\ \underline{0} \\ 0 \end{array}$$

③

$$\begin{array}{r} 308 \\ 3 \overline{) 924} \\ \underline{9} \\ 2 \\ \underline{0} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

④

$$\begin{array}{r} 162 \\ 4 \overline{) 648} \\ \underline{4} \\ 24 \\ \underline{24} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 89 \\ 3 \overline{) 267} \\ \underline{24} \\ 27 \\ \underline{27} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 124 \\ 8 \overline{) 992} \\ \underline{8} \\ 19 \\ \underline{16} \\ 32 \\ \underline{32} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 233 \\ 4 \overline{) 932} \\ \underline{8} \\ 13 \\ \underline{12} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 34 \\ 4 \overline{) 139} \\ \underline{12} \\ 19 \\ \underline{16} \\ 3 \end{array}$$

⑨

$$\begin{array}{r} 105 \\ 9 \overline{) 951} \\ \underline{9} \\ 5 \\ \underline{0} \\ 51 \\ \underline{45} \\ 6 \end{array}$$

①

$$\begin{array}{r} 108 \\ 4 \overline{) 432} \\ \underline{4} \\ 3 \\ \underline{0} \\ 32 \\ \underline{32} \\ 0 \end{array}$$

②

$$\begin{array}{r} 209 \\ 3 \overline{) 627} \\ \underline{6} \\ 2 \\ \underline{0} \\ 27 \\ \underline{27} \\ 0 \end{array}$$

③

$$\begin{array}{r} 193 \\ 5 \overline{) 965} \\ \underline{5} \\ 46 \\ \underline{45} \\ 15 \\ \underline{15} \\ 0 \end{array}$$

④

$$\begin{array}{r} 248 \\ 3 \overline{) 746} \\ \underline{6} \\ 14 \\ \underline{12} \\ 26 \\ \underline{24} \\ 2 \end{array}$$

⑤

$$\begin{array}{r} 184 \\ 4 \overline{) 737} \\ \underline{4} \\ 33 \\ \underline{32} \\ 17 \\ \underline{16} \\ 1 \end{array}$$

⑥

$$\begin{array}{r} 242 \\ 2 \overline{) 484} \\ \underline{4} \\ 8 \\ \underline{8} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 85 \\ 4 \overline{) 340} \\ \underline{32} \\ 20 \\ \underline{20} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 109 \\ 6 \overline{) 655} \\ \underline{6} \\ 5 \\ \underline{0} \\ 55 \\ \underline{54} \\ 1 \end{array}$$

⑨

$$\begin{array}{r} 144 \\ 3 \overline{) 433} \\ \underline{3} \\ 13 \\ \underline{12} \\ 13 \\ \underline{12} \\ 1 \end{array}$$

①

$$\begin{array}{r} 102 \\ 9 \overline{) 921} \\ \underline{9} \\ 2 \\ \underline{0} \\ 21 \\ \underline{18} \\ 3 \end{array}$$

②

$$\begin{array}{r} 108 \\ 7 \overline{) 758} \\ \underline{7} \\ 5 \\ \underline{0} \\ 58 \\ \underline{56} \\ 2 \end{array}$$

③

$$\begin{array}{r} 62 \\ 8 \overline{) 500} \\ \underline{48} \\ 20 \\ \underline{16} \\ 4 \end{array}$$

④

$$\begin{array}{r} 236 \\ 4 \overline{) 945} \\ \underline{8} \\ 14 \\ \underline{12} \\ 25 \\ \underline{24} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 74 \\ 9 \overline{) 669} \\ \underline{63} \\ 39 \\ \underline{36} \\ 3 \end{array}$$

⑥

$$\begin{array}{r} 121 \\ 3 \overline{) 363} \\ \underline{3} \\ 6 \\ \underline{6} \\ 3 \\ \underline{3} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 77 \\ 2 \overline{) 155} \\ \underline{14} \\ 15 \\ \underline{14} \\ 1 \end{array}$$

⑧

$$\begin{array}{r} 34 \\ 5 \overline{) 171} \\ \underline{15} \\ 21 \\ \underline{20} \\ 1 \end{array}$$

⑨

$$\begin{array}{r} 333 \\ 2 \overline{) 666} \\ \underline{6} \\ 6 \\ \underline{6} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

①

$$\begin{array}{r} 53 \\ 6 \overline{) 318} \\ \underline{30} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

②

$$\begin{array}{r} 157 \\ 6 \overline{) 946} \\ \underline{6} \\ 34 \\ \underline{30} \\ 46 \\ \underline{42} \\ 4 \end{array}$$

③

$$\begin{array}{r} 141 \\ 4 \overline{) 565} \\ \underline{4} \\ 16 \\ \underline{16} \\ 5 \\ \underline{4} \\ 1 \end{array}$$

④

$$\begin{array}{r} 107 \\ 6 \overline{) 642} \\ \underline{6} \\ 4 \\ \underline{0} \\ 42 \\ \underline{42} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 142 \\ 6 \overline{) 854} \\ \underline{6} \\ 25 \\ \underline{24} \\ 14 \\ \underline{12} \\ 2 \end{array}$$

⑥

$$\begin{array}{r} 18 \\ 6 \overline{) 111} \\ \underline{6} \\ 51 \\ \underline{48} \\ 3 \end{array}$$

⑦

$$\begin{array}{r} 192 \\ 3 \overline{) 576} \\ \underline{3} \\ 27 \\ \underline{27} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 209 \\ 4 \overline{) 838} \\ \underline{8} \\ 3 \\ \underline{0} \\ 38 \\ \underline{36} \\ 2 \end{array}$$

⑨

$$\begin{array}{r} 83 \\ 6 \overline{) 498} \\ \underline{48} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

①

$$\begin{array}{r} 159 \\ 5 \overline{) 795} \\ \underline{5} \\ 29 \\ \underline{25} \\ 45 \\ \underline{45} \\ 0 \end{array}$$

②

$$\begin{array}{r} 102 \\ 8 \overline{) 816} \\ \underline{8} \\ 1 \\ \underline{0} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

③

$$\begin{array}{r} 401 \\ 2 \overline{) 802} \\ \underline{8} \\ 0 \\ \underline{0} \\ 2 \\ \underline{2} \\ 0 \end{array}$$

④

$$\begin{array}{r} 43 \\ 9 \overline{) 390} \\ \underline{36} \\ 30 \\ \underline{27} \\ 3 \end{array}$$

⑤

$$\begin{array}{r} 55 \\ 9 \overline{) 500} \\ \underline{45} \\ 50 \\ \underline{45} \\ 5 \end{array}$$

⑥

$$\begin{array}{r} 46 \\ 7 \overline{) 323} \\ \underline{28} \\ 43 \\ \underline{42} \\ 1 \end{array}$$

⑦

$$\begin{array}{r} 90 \\ 4 \overline{) 362} \\ \underline{36} \\ 2 \\ \underline{0} \\ 2 \end{array}$$

⑧

$$\begin{array}{r} 91 \\ 8 \overline{) 728} \\ \underline{72} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 105 \\ 5 \overline{) 527} \\ \underline{5} \\ 2 \\ \underline{0} \\ 27 \\ \underline{25} \\ 2 \end{array}$$

①

$$\begin{array}{r} 118 \\ 6 \overline{) 710} \\ \underline{6} \\ 11 \\ \underline{6} \\ 50 \\ \underline{48} \\ 2 \end{array}$$

②

$$\begin{array}{r} 177 \\ 4 \overline{) 708} \\ \underline{4} \\ 30 \\ \underline{28} \\ 28 \\ \underline{28} \\ 0 \end{array}$$

③

$$\begin{array}{r} 85 \\ 6 \overline{) 511} \\ \underline{48} \\ 31 \\ \underline{30} \\ 1 \end{array}$$

④

$$\begin{array}{r} 211 \\ 3 \overline{) 633} \\ \underline{6} \\ 3 \\ \underline{3} \\ 3 \\ \underline{3} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 78 \\ 5 \overline{) 392} \\ \underline{35} \\ 42 \\ \underline{40} \\ 2 \end{array}$$

⑥

$$\begin{array}{r} 291 \\ 3 \overline{) 875} \\ \underline{6} \\ 27 \\ \underline{27} \\ 0 \\ 5 \\ \underline{3} \\ 2 \end{array}$$

⑦

$$\begin{array}{r} 227 \\ 4 \overline{) 911} \\ \underline{8} \\ 11 \\ \underline{8} \\ 31 \\ \underline{28} \\ 3 \end{array}$$

⑧

$$\begin{array}{r} 106 \\ 6 \overline{) 636} \\ \underline{6} \\ 3 \\ \underline{0} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 45 \\ 7 \overline{) 315} \\ \underline{28} \\ 35 \\ \underline{35} \\ 0 \end{array}$$

①

$$\begin{array}{r} 141 \\ 5 \overline{) 708} \\ \underline{5} \\ 20 \\ \underline{20} \\ 8 \\ \underline{5} \\ 3 \end{array}$$

②

$$\begin{array}{r} 85 \\ 9 \overline{) 771} \\ \underline{72} \\ 51 \\ \underline{45} \\ 6 \end{array}$$

③

$$\begin{array}{r} 311 \\ 3 \overline{) 933} \\ \underline{9} \\ 3 \\ \underline{3} \\ 3 \\ \underline{3} \\ 0 \end{array}$$

④

$$\begin{array}{r} 108 \\ 6 \overline{) 649} \\ \underline{6} \\ 4 \\ \underline{0} \\ 49 \\ \underline{48} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 38 \\ 9 \overline{) 350} \\ \underline{27} \\ 80 \\ \underline{72} \\ 8 \end{array}$$

⑥

$$\begin{array}{r} 202 \\ 3 \overline{) 606} \\ \underline{6} \\ 0 \\ \underline{0} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 44 \\ 8 \overline{) 354} \\ \underline{32} \\ 34 \\ \underline{32} \\ 2 \end{array}$$

⑧

$$\begin{array}{r} 243 \\ 2 \overline{) 486} \\ \underline{4} \\ 8 \\ \underline{8} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 122 \\ 8 \overline{) 976} \\ \underline{8} \\ 17 \\ \underline{16} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

①

$$\begin{array}{r} 387 \\ 2 \overline{) 775} \\ \underline{6} \\ 17 \\ \underline{16} \\ 15 \\ \underline{14} \\ 1 \end{array}$$

②

$$\begin{array}{r} 176 \\ 3 \overline{) 529} \\ \underline{3} \\ 22 \\ \underline{21} \\ 19 \\ \underline{18} \\ 1 \end{array}$$

③

$$\begin{array}{r} 104 \\ 4 \overline{) 416} \\ \underline{4} \\ 1 \\ \underline{0} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

④

$$\begin{array}{r} 302 \\ 2 \overline{) 604} \\ \underline{6} \\ 0 \\ \underline{0} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 103 \\ 7 \overline{) 721} \\ \underline{7} \\ 2 \\ \underline{0} \\ 21 \\ \underline{21} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 106 \\ 4 \overline{) 424} \\ \underline{4} \\ 2 \\ \underline{0} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 78 \\ 7 \overline{) 548} \\ \underline{49} \\ 58 \\ \underline{56} \\ 2 \end{array}$$

⑧

$$\begin{array}{r} 131 \\ 2 \overline{) 262} \\ \underline{2} \\ 6 \\ \underline{6} \\ 2 \\ \underline{2} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 99 \\ 8 \overline{) 794} \\ \underline{72} \\ 74 \\ \underline{72} \\ 2 \end{array}$$

①

$$\begin{array}{r} 85 \\ 3 \overline{) 257} \\ \underline{24} \\ 17 \\ \underline{15} \\ 2 \end{array}$$

②

$$\begin{array}{r} 169 \\ 4 \overline{) 678} \\ \underline{4} \\ 27 \\ \underline{24} \\ 38 \\ \underline{36} \\ 2 \end{array}$$

③

$$\begin{array}{r} 259 \\ 2 \overline{) 518} \\ \underline{4} \\ 11 \\ \underline{10} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

④

$$\begin{array}{r} 37 \\ 3 \overline{) 112} \\ \underline{9} \\ 22 \\ \underline{21} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 21 \\ 6 \overline{) 131} \\ \underline{12} \\ 11 \\ \underline{6} \\ 5 \end{array}$$

⑥

$$\begin{array}{r} 286 \\ 2 \overline{) 573} \\ \underline{4} \\ 17 \\ \underline{16} \\ 13 \\ \underline{12} \\ 1 \end{array}$$

⑦

$$\begin{array}{r} 101 \\ 5 \overline{) 505} \\ \underline{5} \\ 0 \\ 0 \\ \underline{5} \\ 5 \\ \underline{5} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 111 \\ 6 \overline{) 666} \\ \underline{6} \\ 6 \\ \underline{6} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 111 \\ 3 \overline{) 333} \\ \underline{3} \\ 3 \\ \underline{3} \\ 3 \\ \underline{3} \\ 0 \end{array}$$

①

$$\begin{array}{r} 124 \\ 2 \overline{) 248} \\ \underline{2} \\ 4 \\ \underline{4} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

②

$$\begin{array}{r} 155 \\ 6 \overline{) 935} \\ \underline{6} \\ 33 \\ \underline{30} \\ 35 \\ \underline{30} \\ 5 \end{array}$$

③

$$\begin{array}{r} 42 \\ 7 \overline{) 295} \\ \underline{28} \\ 15 \\ \underline{14} \\ 1 \end{array}$$

④

$$\begin{array}{r} 115 \\ 7 \overline{) 805} \\ \underline{7} \\ 10 \\ \underline{7} \\ 35 \\ \underline{35} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 19 \\ 7 \overline{) 137} \\ \underline{7} \\ 67 \\ \underline{63} \\ 4 \end{array}$$

⑥

$$\begin{array}{r} 28 \\ 4 \overline{) 112} \\ \underline{8} \\ 32 \\ \underline{32} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 108 \\ 9 \overline{) 978} \\ \underline{9} \\ 7 \\ \underline{0} \\ 78 \\ \underline{72} \\ 6 \end{array}$$

⑧

$$\begin{array}{r} 133 \\ 3 \overline{) 401} \\ \underline{3} \\ 10 \\ \underline{9} \\ 11 \\ \underline{9} \\ 2 \end{array}$$

⑨

$$\begin{array}{r} 257 \\ 2 \overline{) 514} \\ \underline{4} \\ 11 \\ \underline{10} \\ 14 \\ \underline{14} \\ 0 \end{array}$$

①

$$\begin{array}{r} 107 \\ 9 \overline{) 969} \\ \underline{9} \\ 6 \\ \underline{0} \\ 69 \\ \underline{63} \\ 6 \end{array}$$

②

$$\begin{array}{r} 212 \\ 4 \overline{) 848} \\ \underline{8} \\ 4 \\ \underline{4} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

③

$$\begin{array}{r} 122 \\ 8 \overline{) 977} \\ \underline{8} \\ 17 \\ \underline{16} \\ 17 \\ \underline{16} \\ 1 \end{array}$$

④

$$\begin{array}{r} 92 \\ 4 \overline{) 370} \\ \underline{36} \\ 10 \\ \underline{8} \\ 2 \end{array}$$

⑤

$$\begin{array}{r} 94 \\ 4 \overline{) 378} \\ \underline{36} \\ 18 \\ \underline{16} \\ 2 \end{array}$$

⑥

$$\begin{array}{r} 244 \\ 2 \overline{) 488} \\ \underline{4} \\ 8 \\ \underline{8} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 123 \\ 6 \overline{) 738} \\ \underline{6} \\ 13 \\ \underline{12} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 162 \\ 6 \overline{) 972} \\ \underline{6} \\ 37 \\ \underline{36} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 134 \\ 3 \overline{) 403} \\ \underline{3} \\ 10 \\ \underline{9} \\ 13 \\ \underline{12} \\ 1 \end{array}$$

①

$$\begin{array}{r} 102 \\ 5 \overline{) 510} \\ \underline{5} \\ 1 \\ \underline{0} \\ 10 \\ \underline{10} \\ 0 \end{array}$$

②

$$\begin{array}{r} 17 \\ 7 \overline{) 124} \\ \underline{7} \\ 54 \\ \underline{49} \\ 5 \end{array}$$

③

$$\begin{array}{r} 107 \\ 9 \overline{) 968} \\ \underline{9} \\ 6 \\ \underline{0} \\ 68 \\ \underline{63} \\ 5 \end{array}$$

④

$$\begin{array}{r} 313 \\ 3 \overline{) 939} \\ \underline{9} \\ 3 \\ \underline{3} \\ 9 \\ \underline{9} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 122 \\ 8 \overline{) 981} \\ \underline{8} \\ 18 \\ \underline{16} \\ 21 \\ \underline{16} \\ 5 \end{array}$$

⑥

$$\begin{array}{r} 181 \\ 2 \overline{) 362} \\ \underline{2} \\ 16 \\ \underline{16} \\ 2 \\ \underline{2} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 427 \\ 2 \overline{) 854} \\ \underline{8} \\ 5 \\ \underline{4} \\ 14 \\ \underline{14} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 104 \\ 5 \overline{) 523} \\ \underline{5} \\ 2 \\ \underline{0} \\ 23 \\ \underline{20} \\ 3 \end{array}$$

⑨

$$\begin{array}{r} 105 \\ 3 \overline{) 315} \\ \underline{3} \\ 1 \\ \underline{0} \\ 15 \\ \underline{15} \\ 0 \end{array}$$

①

$$\begin{array}{r} 105 \\ 7 \overline{) 735} \\ \underline{7} \\ 3 \\ \underline{0} \\ 35 \\ \underline{35} \\ 0 \end{array}$$

②

$$\begin{array}{r} 157 \\ 2 \overline{) 314} \\ \underline{2} \\ 11 \\ \underline{10} \\ 14 \\ \underline{14} \\ 0 \end{array}$$

③

$$\begin{array}{r} 61 \\ 7 \overline{) 433} \\ \underline{42} \\ 13 \\ \underline{7} \\ 6 \end{array}$$

④

$$\begin{array}{r} 106 \\ 9 \overline{) 961} \\ \underline{9} \\ 6 \\ \underline{0} \\ 61 \\ \underline{54} \\ 7 \end{array}$$

⑤

$$\begin{array}{r} 96 \\ 2 \overline{) 193} \\ \underline{18} \\ 13 \\ \underline{12} \\ 1 \end{array}$$

⑥

$$\begin{array}{r} 266 \\ 2 \overline{) 533} \\ \underline{4} \\ 13 \\ \underline{12} \\ 13 \\ \underline{12} \\ 1 \end{array}$$

⑦

$$\begin{array}{r} 108 \\ 8 \overline{) 867} \\ \underline{8} \\ 6 \\ \underline{0} \\ 67 \\ \underline{64} \\ 3 \end{array}$$

⑧

$$\begin{array}{r} 83 \\ 7 \overline{) 585} \\ \underline{56} \\ 25 \\ \underline{21} \\ 4 \end{array}$$

⑨

$$\begin{array}{r} 156 \\ 2 \overline{) 313} \\ \underline{2} \\ 11 \\ \underline{10} \\ 13 \\ \underline{12} \\ 1 \end{array}$$

①

$$\begin{array}{r} 50 \\ 9 \overline{) 450} \\ \underline{45} \\ 0 \\ \underline{0} \\ 0 \end{array}$$

②

$$\begin{array}{r} 109 \\ 7 \overline{) 769} \\ \underline{7} \\ 6 \\ \underline{0} \\ 69 \\ \underline{63} \\ 6 \end{array}$$

③

$$\begin{array}{r} 187 \\ 4 \overline{) 748} \\ \underline{4} \\ 34 \\ \underline{32} \\ 28 \\ \underline{28} \\ 0 \end{array}$$

④

$$\begin{array}{r} 122 \\ 8 \overline{) 978} \\ \underline{8} \\ 17 \\ \underline{16} \\ 18 \\ \underline{16} \\ 2 \end{array}$$

⑤

$$\begin{array}{r} 131 \\ 6 \overline{) 789} \\ \underline{6} \\ 18 \\ \underline{18} \\ 9 \\ \underline{6} \\ 3 \end{array}$$

⑥

$$\begin{array}{r} 239 \\ 4 \overline{) 956} \\ \underline{8} \\ 15 \\ \underline{12} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 81 \\ 4 \overline{) 326} \\ \underline{32} \\ 6 \\ \underline{4} \\ 2 \end{array}$$

⑧

$$\begin{array}{r} 189 \\ 5 \overline{) 949} \\ \underline{5} \\ 44 \\ \underline{40} \\ 49 \\ \underline{45} \\ 4 \end{array}$$

⑨

$$\begin{array}{r} 109 \\ 2 \overline{) 218} \\ \underline{2} \\ 1 \\ \underline{0} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

①

$$\begin{array}{r} 117 \\ 7 \overline{) 819} \\ \underline{7} \\ 11 \\ 7 \\ \underline{ 49} \\ 49 \\ \underline{ 49} \\ 0 \end{array}$$

②

$$\begin{array}{r} 204 \\ 4 \overline{) 818} \\ \underline{8} \\ 1 \\ 0 \\ \underline{ 18} \\ 6 \\ \underline{ 6} \\ 2 \end{array}$$

③

$$\begin{array}{r} 146 \\ 3 \overline{) 438} \\ \underline{3} \\ 13 \\ 2 \\ \underline{ 18} \\ 8 \\ \underline{ 8} \\ 0 \end{array}$$

④

$$\begin{array}{r} 117 \\ 7 \overline{) 824} \\ \underline{7} \\ 12 \\ 7 \\ \underline{ 54} \\ 49 \\ \underline{ 49} \\ 5 \end{array}$$

⑤

$$\begin{array}{r} 234 \\ 2 \overline{) 468} \\ \underline{4} \\ 6 \\ 6 \\ \underline{ 8} \\ 8 \\ \underline{ 8} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 126 \\ 7 \overline{) 882} \\ \underline{7} \\ 18 \\ 4 \\ \underline{ 42} \\ 42 \\ \underline{ 42} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 120 \\ 5 \overline{) 603} \\ \underline{5} \\ 10 \\ 0 \\ \underline{ 3} \\ 0 \\ \underline{ 0} \\ 3 \end{array}$$

⑧

$$\begin{array}{r} 62 \\ 6 \overline{) 374} \\ \underline{36} \\ 14 \\ 12 \\ \underline{ 2} \\ 2 \end{array}$$

⑨

$$\begin{array}{r} 206 \\ 3 \overline{) 618} \\ \underline{6} \\ 1 \\ 0 \\ \underline{ 18} \\ 18 \\ \underline{ 18} \\ 0 \end{array}$$

①

$$\begin{array}{r} 284 \\ 2 \overline{) 569} \\ \underline{4} \\ 16 \\ \underline{16} \\ 9 \\ \underline{8} \\ 1 \end{array}$$

②

$$\begin{array}{r} 62 \\ 2 \overline{) 125} \\ \underline{12} \\ 5 \\ \underline{4} \\ 1 \end{array}$$

③

$$\begin{array}{r} 105 \\ 8 \overline{) 840} \\ \underline{8} \\ 4 \\ \underline{0} \\ 40 \\ \underline{40} \\ 0 \end{array}$$

④

$$\begin{array}{r} 64 \\ 2 \overline{) 129} \\ \underline{12} \\ 9 \\ \underline{8} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 431 \\ 2 \overline{) 862} \\ \underline{8} \\ 6 \\ \underline{6} \\ 2 \\ \underline{2} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 424 \\ 2 \overline{) 848} \\ \underline{8} \\ 4 \\ \underline{4} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 123 \\ 7 \overline{) 863} \\ \underline{7} \\ 16 \\ \underline{14} \\ 23 \\ \underline{21} \\ 2 \end{array}$$

⑧

$$\begin{array}{r} 479 \\ 2 \overline{) 959} \\ \underline{8} \\ 15 \\ \underline{14} \\ 19 \\ \underline{18} \\ 1 \end{array}$$

⑨

$$\begin{array}{r} 305 \\ 2 \overline{) 610} \\ \underline{6} \\ 1 \\ \underline{0} \\ 10 \\ \underline{10} \\ 0 \end{array}$$

①

$$\begin{array}{r} 116 \\ 2 \overline{) 232} \\ \underline{2} \\ 3 \\ \underline{2} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

②

$$\begin{array}{r} 103 \\ 9 \overline{) 927} \\ \underline{9} \\ 2 \\ \underline{0} \\ 27 \\ \underline{27} \\ 0 \end{array}$$

③

$$\begin{array}{r} 109 \\ 8 \overline{) 874} \\ \underline{8} \\ 7 \\ \underline{0} \\ 74 \\ \underline{72} \\ 2 \end{array}$$

④

$$\begin{array}{r} 81 \\ 9 \overline{) 731} \\ \underline{72} \\ 11 \\ \underline{9} \\ 2 \end{array}$$

⑤

$$\begin{array}{r} 34 \\ 9 \overline{) 314} \\ \underline{27} \\ 44 \\ \underline{36} \\ 8 \end{array}$$

⑥

$$\begin{array}{r} 79 \\ 4 \overline{) 316} \\ \underline{28} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 182 \\ 5 \overline{) 911} \\ \underline{5} \\ 41 \\ \underline{40} \\ 11 \\ \underline{10} \\ 1 \end{array}$$

⑧

$$\begin{array}{r} 65 \\ 7 \overline{) 459} \\ \underline{42} \\ 39 \\ \underline{35} \\ 4 \end{array}$$

⑨

$$\begin{array}{r} 144 \\ 6 \overline{) 869} \\ \underline{6} \\ 26 \\ \underline{24} \\ 29 \\ \underline{24} \\ 5 \end{array}$$

①

$$\begin{array}{r} 135 \\ 3 \overline{)405} \\ \underline{3} \\ 10 \\ \underline{9} \\ 15 \\ \underline{15} \\ 0 \end{array}$$

②

$$\begin{array}{r} 202 \\ 4 \overline{)808} \\ \underline{8} \\ 0 \\ \underline{0} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

③

$$\begin{array}{r} 138 \\ 7 \overline{)972} \\ \underline{7} \\ 27 \\ \underline{21} \\ 62 \\ \underline{56} \\ 6 \end{array}$$

④

$$\begin{array}{r} 328 \\ 3 \overline{)984} \\ \underline{9} \\ 8 \\ \underline{6} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 233 \\ 3 \overline{)699} \\ \underline{6} \\ 9 \\ \underline{9} \\ 9 \\ \underline{9} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 100 \\ 2 \overline{)201} \\ \underline{2} \\ 0 \\ \underline{0} \\ 1 \\ \underline{0} \\ 1 \end{array}$$

⑦

$$\begin{array}{r} 49 \\ 3 \overline{)149} \\ \underline{12} \\ 29 \\ \underline{27} \\ 2 \end{array}$$

⑧

$$\begin{array}{r} 115 \\ 6 \overline{)695} \\ \underline{6} \\ 9 \\ \underline{6} \\ 35 \\ \underline{30} \\ 5 \end{array}$$

⑨

$$\begin{array}{r} 115 \\ 7 \overline{)809} \\ \underline{7} \\ 10 \\ \underline{7} \\ 39 \\ \underline{35} \\ 4 \end{array}$$

①

$$\begin{array}{r} 222 \\ 4 \overline{) 888} \\ \underline{8} \\ 8 \\ \underline{8} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

②

$$\begin{array}{r} 343 \\ 2 \overline{) 686} \\ \underline{6} \\ 8 \\ \underline{8} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

③

$$\begin{array}{r} 105 \\ 5 \overline{) 526} \\ \underline{5} \\ 2 \\ \underline{0} \\ 26 \\ \underline{25} \\ 1 \end{array}$$

④

$$\begin{array}{r} 241 \\ 2 \overline{) 482} \\ \underline{4} \\ 8 \\ \underline{8} \\ 2 \\ \underline{2} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 36 \\ 6 \overline{) 221} \\ \underline{18} \\ 41 \\ \underline{36} \\ 5 \end{array}$$

⑥

$$\begin{array}{r} 107 \\ 5 \overline{) 539} \\ \underline{5} \\ 3 \\ \underline{0} \\ 39 \\ \underline{35} \\ 4 \end{array}$$

⑦

$$\begin{array}{r} 67 \\ 8 \overline{) 536} \\ \underline{48} \\ 56 \\ \underline{56} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 255 \\ 2 \overline{) 510} \\ \underline{4} \\ 11 \\ \underline{10} \\ 10 \\ \underline{10} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 267 \\ 3 \overline{) 801} \\ \underline{6} \\ 20 \\ \underline{18} \\ 21 \\ \underline{21} \\ 0 \end{array}$$

①

$$\begin{array}{r} 107 \\ 4 \overline{) 430} \\ \underline{4} \\ 3 \\ \underline{0} \\ 30 \\ \underline{28} \\ 2 \end{array}$$

②

$$\begin{array}{r} 285 \\ 3 \overline{) 856} \\ \underline{6} \\ 25 \\ \underline{24} \\ 16 \\ \underline{15} \\ 1 \end{array}$$

③

$$\begin{array}{r} 30 \\ 6 \overline{) 180} \\ \underline{18} \\ 0 \\ \underline{0} \\ 0 \end{array}$$

④

$$\begin{array}{r} 158 \\ 4 \overline{) 634} \\ \underline{4} \\ 23 \\ \underline{20} \\ 34 \\ \underline{32} \\ 2 \end{array}$$

⑤

$$\begin{array}{r} 108 \\ 7 \overline{) 757} \\ \underline{7} \\ 5 \\ \underline{0} \\ 57 \\ \underline{56} \\ 1 \end{array}$$

⑥

$$\begin{array}{r} 198 \\ 5 \overline{) 990} \\ \underline{5} \\ 49 \\ \underline{45} \\ 40 \\ \underline{40} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 111 \\ 4 \overline{) 444} \\ \underline{4} \\ 4 \\ \underline{4} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 184 \\ 3 \overline{) 552} \\ \underline{3} \\ 25 \\ \underline{24} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 36 \\ 9 \overline{) 330} \\ \underline{27} \\ 60 \\ \underline{54} \\ 6 \end{array}$$

①

$$\begin{array}{r} 112 \\ 2 \overline{) 224} \\ \underline{2} \\ 2 \\ \underline{2} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

②

$$\begin{array}{r} 104 \\ 8 \overline{) 835} \\ \underline{8} \\ 3 \\ \underline{0} \\ 35 \\ \underline{32} \\ 3 \end{array}$$

③

$$\begin{array}{r} 101 \\ 7 \overline{) 712} \\ \underline{7} \\ 1 \\ \underline{0} \\ 12 \\ \underline{7} \\ 5 \end{array}$$

④

$$\begin{array}{r} 433 \\ 2 \overline{) 866} \\ \underline{8} \\ 6 \\ \underline{6} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 59 \\ 3 \overline{) 178} \\ \underline{15} \\ 28 \\ \underline{27} \\ 1 \end{array}$$

⑥

$$\begin{array}{r} 59 \\ 2 \overline{) 119} \\ \underline{10} \\ 19 \\ \underline{18} \\ 1 \end{array}$$

⑦

$$\begin{array}{r} 388 \\ 2 \overline{) 777} \\ \underline{6} \\ 17 \\ \underline{16} \\ 17 \\ \underline{16} \\ 1 \end{array}$$

⑧

$$\begin{array}{r} 142 \\ 7 \overline{) 994} \\ \underline{7} \\ 29 \\ \underline{28} \\ 14 \\ \underline{14} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 70 \\ 4 \overline{) 283} \\ \underline{28} \\ 3 \\ \underline{0} \\ 3 \end{array}$$

①

$$\begin{array}{r} 323 \\ 3 \overline{) 969} \\ \underline{9} \\ 6 \\ \underline{6} \\ 9 \\ \underline{9} \\ 0 \end{array}$$

②

$$\begin{array}{r} 314 \\ 2 \overline{) 628} \\ \underline{6} \\ 2 \\ \underline{2} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

③

$$\begin{array}{r} 281 \\ 2 \overline{) 562} \\ \underline{4} \\ 16 \\ \underline{16} \\ 2 \\ \underline{2} \\ 0 \end{array}$$

④

$$\begin{array}{r} 256 \\ 3 \overline{) 768} \\ \underline{6} \\ 16 \\ \underline{15} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 52 \\ 8 \overline{) 420} \\ \underline{40} \\ 20 \\ \underline{16} \\ 4 \end{array}$$

⑥

$$\begin{array}{r} 37 \\ 8 \overline{) 296} \\ \underline{24} \\ 56 \\ \underline{56} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 107 \\ 3 \overline{) 322} \\ \underline{3} \\ 2 \\ \underline{0} \\ 22 \\ \underline{21} \\ 1 \end{array}$$

⑧

$$\begin{array}{r} 139 \\ 4 \overline{) 556} \\ \underline{4} \\ 15 \\ \underline{12} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 102 \\ 4 \overline{) 408} \\ \underline{4} \\ 0 \\ \underline{0} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

①

$$\begin{array}{r} 157 \\ 6 \overline{) 942} \\ \underline{6} \\ 34 \\ \underline{30} \\ 42 \\ \underline{42} \\ 0 \end{array}$$

②

$$\begin{array}{r} 211 \\ 4 \overline{) 844} \\ \underline{8} \\ 4 \\ \underline{4} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

③

$$\begin{array}{r} 303 \\ 2 \overline{) 606} \\ \underline{6} \\ 0 \\ \underline{0} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

④

$$\begin{array}{r} 411 \\ 2 \overline{) 822} \\ \underline{8} \\ 2 \\ \underline{2} \\ 2 \\ \underline{2} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 199 \\ 4 \overline{) 798} \\ \underline{4} \\ 39 \\ \underline{36} \\ 38 \\ \underline{36} \\ 2 \end{array}$$

⑥

$$\begin{array}{r} 101 \\ 5 \overline{) 508} \\ \underline{5} \\ 0 \\ \underline{0} \\ 8 \\ \underline{5} \\ 3 \end{array}$$

⑦

$$\begin{array}{r} 246 \\ 3 \overline{) 740} \\ \underline{6} \\ 14 \\ \underline{12} \\ 20 \\ \underline{18} \\ 2 \end{array}$$

⑧

$$\begin{array}{r} 94 \\ 8 \overline{) 755} \\ \underline{72} \\ 35 \\ \underline{32} \\ 3 \end{array}$$

⑨

$$\begin{array}{r} 123 \\ 2 \overline{) 246} \\ \underline{2} \\ 4 \\ \underline{4} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

①

$$\begin{array}{r} 76 \\ 5 \overline{) 380} \\ \underline{35} \\ 30 \\ \underline{30} \\ 0 \end{array}$$

②

$$\begin{array}{r} 111 \\ 8 \overline{) 895} \\ \underline{8} \\ 9 \\ \underline{8} \\ 15 \\ \underline{8} \\ 7 \end{array}$$

③

$$\begin{array}{r} 154 \\ 5 \overline{) 770} \\ \underline{5} \\ 27 \\ \underline{25} \\ 20 \\ \underline{20} \\ 0 \end{array}$$

④

$$\begin{array}{r} 39 \\ 4 \overline{) 156} \\ \underline{12} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 121 \\ 4 \overline{) 484} \\ \underline{4} \\ 8 \\ \underline{8} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 98 \\ 9 \overline{) 883} \\ \underline{81} \\ 73 \\ \underline{72} \\ 1 \end{array}$$

⑦

$$\begin{array}{r} 101 \\ 4 \overline{) 406} \\ \underline{4} \\ 0 \\ 0 \\ \underline{0} \\ 6 \\ \underline{4} \\ 2 \end{array}$$

⑧

$$\begin{array}{r} 34 \\ 4 \overline{) 136} \\ \underline{12} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 58 \\ 4 \overline{) 234} \\ \underline{20} \\ 34 \\ \underline{32} \\ 2 \end{array}$$

①

$$\begin{array}{r} 98 \\ 2 \overline{) 196} \\ \underline{18} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

②

$$\begin{array}{r} 83 \\ 3 \overline{) 250} \\ \underline{24} \\ 10 \\ 9 \\ \underline{9} \\ 1 \end{array}$$

③

$$\begin{array}{r} 98 \\ 7 \overline{) 686} \\ \underline{63} \\ 56 \\ \underline{56} \\ 0 \end{array}$$

④

$$\begin{array}{r} 185 \\ 3 \overline{) 555} \\ \underline{3} \\ 25 \\ \underline{24} \\ 15 \\ \underline{15} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 287 \\ 3 \overline{) 862} \\ \underline{6} \\ 26 \\ \underline{24} \\ 22 \\ \underline{21} \\ 1 \end{array}$$

⑥

$$\begin{array}{r} 54 \\ 3 \overline{) 164} \\ \underline{15} \\ 14 \\ \underline{12} \\ 2 \end{array}$$

⑦

$$\begin{array}{r} 109 \\ 7 \overline{) 765} \\ \underline{7} \\ 6 \\ 0 \\ \underline{0} \\ 65 \\ \underline{63} \\ 2 \end{array}$$

⑧

$$\begin{array}{r} 167 \\ 3 \overline{) 503} \\ \underline{3} \\ 20 \\ 8 \\ \underline{8} \\ 23 \\ \underline{21} \\ 2 \end{array}$$

⑨

$$\begin{array}{r} 82 \\ 4 \overline{) 330} \\ \underline{32} \\ 10 \\ 8 \\ \underline{8} \\ 2 \end{array}$$

①

$$\begin{array}{r} 102 \\ 9 \overline{) 922} \\ \underline{9} \\ 2 \\ \underline{0} \\ 22 \\ \underline{18} \\ 4 \end{array}$$

②

$$\begin{array}{r} 116 \\ 7 \overline{) 812} \\ \underline{7} \\ 11 \\ \underline{7} \\ 42 \\ \underline{42} \\ 0 \end{array}$$

③

$$\begin{array}{r} 114 \\ 2 \overline{) 228} \\ \underline{2} \\ 2 \\ \underline{2} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

④

$$\begin{array}{r} 84 \\ 2 \overline{) 169} \\ \underline{16} \\ 9 \\ \underline{8} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 48 \\ 6 \overline{) 293} \\ \underline{24} \\ 53 \\ \underline{48} \\ 5 \end{array}$$

⑥

$$\begin{array}{r} 122 \\ 4 \overline{) 488} \\ \underline{4} \\ 8 \\ \underline{8} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 32 \\ 7 \overline{) 226} \\ \underline{21} \\ 16 \\ \underline{14} \\ 2 \end{array}$$

⑧

$$\begin{array}{r} 226 \\ 4 \overline{) 904} \\ \underline{8} \\ 10 \\ \underline{8} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 88 \\ 5 \overline{) 442} \\ \underline{40} \\ 42 \\ \underline{40} \\ 2 \end{array}$$

①

$$\begin{array}{r} 332 \\ 3 \overline{) 996} \\ \underline{9} \\ 9 \\ \underline{9} \\ 60 \\ \underline{60} \\ 0 \end{array}$$

②

$$\begin{array}{r} 105 \\ 5 \overline{) 528} \\ \underline{5} \\ 2 \\ \underline{0} \\ 28 \\ \underline{25} \\ 3 \end{array}$$

③

$$\begin{array}{r} 73 \\ 8 \overline{) 584} \\ \underline{56} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

④

$$\begin{array}{r} 52 \\ 2 \overline{) 105} \\ \underline{10} \\ 5 \\ \underline{4} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 104 \\ 7 \overline{) 732} \\ \underline{7} \\ 3 \\ \underline{0} \\ 32 \\ \underline{28} \\ 4 \end{array}$$

⑥

$$\begin{array}{r} 209 \\ 4 \overline{) 836} \\ \underline{8} \\ 3 \\ \underline{0} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 114 \\ 4 \overline{) 458} \\ \underline{4} \\ 5 \\ \underline{4} \\ 18 \\ \underline{16} \\ 2 \end{array}$$

⑧

$$\begin{array}{r} 99 \\ 9 \overline{) 897} \\ \underline{81} \\ 87 \\ \underline{81} \\ 6 \end{array}$$

⑨

$$\begin{array}{r} 109 \\ 9 \overline{) 988} \\ \underline{9} \\ 8 \\ \underline{0} \\ 88 \\ \underline{81} \\ 7 \end{array}$$

①

$$\begin{array}{r} 108 \\ 3 \overline{) 326} \\ \underline{3} \\ 2 \\ \underline{0} \\ 26 \\ \underline{24} \\ 2 \end{array}$$

②

$$\begin{array}{r} 39 \\ 5 \overline{) 195} \\ \underline{15} \\ 45 \\ \underline{45} \\ 0 \end{array}$$

③

$$\begin{array}{r} 379 \\ 2 \overline{) 759} \\ \underline{6} \\ 15 \\ \underline{14} \\ 19 \\ \underline{18} \\ 1 \end{array}$$

④

$$\begin{array}{r} 126 \\ 4 \overline{) 504} \\ \underline{4} \\ 10 \\ \underline{8} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 332 \\ 2 \overline{) 664} \\ \underline{6} \\ 6 \\ \underline{6} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 107 \\ 9 \overline{) 963} \\ \underline{9} \\ 6 \\ \underline{0} \\ 63 \\ \underline{63} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 58 \\ 5 \overline{) 291} \\ \underline{25} \\ 41 \\ \underline{40} \\ 1 \end{array}$$

⑧

$$\begin{array}{r} 106 \\ 5 \overline{) 532} \\ \underline{5} \\ 3 \\ \underline{0} \\ 32 \\ \underline{30} \\ 2 \end{array}$$

⑨

$$\begin{array}{r} 33 \\ 6 \overline{) 199} \\ \underline{18} \\ 19 \\ \underline{18} \\ 1 \end{array}$$

①

$$\begin{array}{r} 356 \\ 2 \overline{) 713} \\ \underline{6} \\ 11 \\ \underline{10} \\ 13 \\ \underline{12} \\ 1 \end{array}$$

②

$$\begin{array}{r} 103 \\ 7 \overline{) 725} \\ \underline{7} \\ 2 \\ \underline{0} \\ 25 \\ \underline{21} \\ 4 \end{array}$$

③

$$\begin{array}{r} 122 \\ 3 \overline{) 366} \\ \underline{3} \\ 6 \\ \underline{6} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

④

$$\begin{array}{r} 44 \\ 4 \overline{) 177} \\ \underline{16} \\ 17 \\ \underline{16} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 106 \\ 7 \overline{) 742} \\ \underline{7} \\ 4 \\ \underline{0} \\ 42 \\ \underline{42} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 119 \\ 8 \overline{) 955} \\ \underline{8} \\ 15 \\ \underline{8} \\ 75 \\ \underline{72} \\ 3 \end{array}$$

⑦

$$\begin{array}{r} 98 \\ 4 \overline{) 394} \\ \underline{36} \\ 34 \\ \underline{32} \\ 2 \end{array}$$

⑧

$$\begin{array}{r} 118 \\ 8 \overline{) 944} \\ \underline{8} \\ 14 \\ \underline{8} \\ 64 \\ \underline{64} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 68 \\ 4 \overline{) 272} \\ \underline{24} \\ 32 \\ \underline{32} \\ 0 \end{array}$$

①

$$\begin{array}{r} 146 \\ 6 \overline{) 877} \\ \underline{6} \\ 27 \\ \underline{24} \\ 37 \\ \underline{36} \\ 1 \end{array}$$

②

$$\begin{array}{r} 147 \\ 4 \overline{) 589} \\ \underline{4} \\ 18 \\ \underline{16} \\ 29 \\ \underline{28} \\ 1 \end{array}$$

③

$$\begin{array}{r} 122 \\ 6 \overline{) 732} \\ \underline{6} \\ 13 \\ \underline{12} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

④

$$\begin{array}{r} 41 \\ 8 \overline{) 328} \\ \underline{32} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 101 \\ 7 \overline{) 710} \\ \underline{7} \\ 1 \\ \underline{0} \\ 10 \\ \underline{7} \\ 3 \end{array}$$

⑥

$$\begin{array}{r} 342 \\ 2 \overline{) 684} \\ \underline{6} \\ 8 \\ \underline{8} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 368 \\ 2 \overline{) 736} \\ \underline{6} \\ 13 \\ \underline{12} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 61 \\ 8 \overline{) 490} \\ \underline{48} \\ 10 \\ \underline{8} \\ 2 \end{array}$$

⑨

$$\begin{array}{r} 48 \\ 8 \overline{) 385} \\ \underline{32} \\ 65 \\ \underline{64} \\ 1 \end{array}$$

①

$$\begin{array}{r} 144 \\ 5 \overline{) 720} \\ \underline{5} \\ 22 \\ \underline{20} \\ 20 \\ \underline{20} \\ 0 \end{array}$$

②

$$\begin{array}{r} 76 \\ 6 \overline{) 456} \\ \underline{42} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

③

$$\begin{array}{r} 105 \\ 7 \overline{) 740} \\ \underline{7} \\ 4 \\ \underline{0} \\ 40 \\ \underline{35} \\ 5 \end{array}$$

④

$$\begin{array}{r} 58 \\ 6 \overline{) 349} \\ \underline{30} \\ 49 \\ \underline{48} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 111 \\ 9 \overline{) 999} \\ \underline{9} \\ 9 \\ \underline{9} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 20 \\ 6 \overline{) 120} \\ \underline{12} \\ 0 \\ \underline{0} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 134 \\ 2 \overline{) 268} \\ \underline{2} \\ 6 \\ \underline{6} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 37 \\ 5 \overline{) 189} \\ \underline{15} \\ 39 \\ \underline{35} \\ 4 \end{array}$$

⑨

$$\begin{array}{r} 188 \\ 4 \overline{) 752} \\ \underline{4} \\ 35 \\ \underline{32} \\ 32 \\ \underline{32} \\ 0 \end{array}$$

①

$$\begin{array}{r} 107 \\ 8 \overline{) 859} \\ \underline{8} \\ 5 \\ \underline{0} \\ 59 \\ \underline{56} \\ 3 \end{array}$$

②

$$\begin{array}{r} 259 \\ 2 \overline{) 519} \\ \underline{4} \\ 11 \\ \underline{10} \\ 19 \\ \underline{18} \\ 1 \end{array}$$

③

$$\begin{array}{r} 72 \\ 8 \overline{) 576} \\ \underline{56} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

④

$$\begin{array}{r} 111 \\ 8 \overline{) 890} \\ \underline{8} \\ 9 \\ \underline{8} \\ 10 \\ \underline{8} \\ 2 \end{array}$$

⑤

$$\begin{array}{r} 137 \\ 3 \overline{) 411} \\ \underline{3} \\ 11 \\ \underline{9} \\ 21 \\ \underline{21} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 81 \\ 5 \overline{) 405} \\ \underline{40} \\ 5 \\ \underline{5} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 88 \\ 8 \overline{) 711} \\ \underline{64} \\ 71 \\ \underline{64} \\ 7 \end{array}$$

⑧

$$\begin{array}{r} 103 \\ 5 \overline{) 515} \\ \underline{5} \\ 1 \\ \underline{0} \\ 15 \\ \underline{15} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 106 \\ 2 \overline{) 212} \\ \underline{2} \\ 1 \\ \underline{0} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

①

$$\begin{array}{r} 90 \\ 8 \overline{) 720} \\ \underline{72} \\ 0 \\ \underline{0} \\ 0 \end{array}$$

②

$$\begin{array}{r} 58 \\ 7 \overline{) 407} \\ \underline{35} \\ 57 \\ \underline{56} \\ 1 \end{array}$$

③

$$\begin{array}{r} 306 \\ 3 \overline{) 918} \\ \underline{9} \\ 1 \\ \underline{0} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

④

$$\begin{array}{r} 208 \\ 4 \overline{) 832} \\ \underline{8} \\ 3 \\ \underline{0} \\ 32 \\ \underline{32} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 90 \\ 8 \overline{) 724} \\ \underline{72} \\ 4 \\ \underline{0} \\ 4 \end{array}$$

⑥

$$\begin{array}{r} 302 \\ 3 \overline{) 906} \\ \underline{9} \\ 0 \\ \underline{0} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 91 \\ 4 \overline{) 364} \\ \underline{36} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 103 \\ 6 \overline{) 619} \\ \underline{6} \\ 1 \\ \underline{0} \\ 19 \\ \underline{18} \\ 1 \end{array}$$

⑨

$$\begin{array}{r} 162 \\ 3 \overline{) 487} \\ \underline{3} \\ 18 \\ \underline{18} \\ 7 \\ \underline{6} \\ 1 \end{array}$$

①

$$\begin{array}{r} 52 \\ 4 \overline{) 208} \\ \underline{20} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

②

$$\begin{array}{r} 55 \\ 7 \overline{) 389} \\ \underline{35} \\ 39 \\ \underline{35} \\ 4 \end{array}$$

③

$$\begin{array}{r} 467 \\ 2 \overline{) 934} \\ \underline{8} \\ 13 \\ \underline{12} \\ 14 \\ \underline{14} \\ 0 \end{array}$$

④

$$\begin{array}{r} 56 \\ 7 \overline{) 393} \\ \underline{35} \\ 43 \\ \underline{42} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 22 \\ 5 \overline{) 112} \\ \underline{10} \\ 12 \\ \underline{10} \\ 2 \end{array}$$

⑥

$$\begin{array}{r} 62 \\ 5 \overline{) 314} \\ \underline{30} \\ 14 \\ \underline{10} \\ 4 \end{array}$$

⑦

$$\begin{array}{r} 86 \\ 5 \overline{) 432} \\ \underline{40} \\ 32 \\ \underline{30} \\ 2 \end{array}$$

⑧

$$\begin{array}{r} 86 \\ 5 \overline{) 431} \\ \underline{40} \\ 31 \\ \underline{30} \\ 1 \end{array}$$

⑨

$$\begin{array}{r} 111 \\ 8 \overline{) 888} \\ \underline{8} \\ 8 \\ \underline{8} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

①

$$\begin{array}{r} 90 \\ 5 \overline{) 450} \\ \underline{45} \\ 0 \\ \underline{0} \\ 0 \end{array}$$

②

$$\begin{array}{r} 108 \\ 8 \overline{) 864} \\ \underline{8} \\ 6 \\ \underline{0} \\ 64 \\ \underline{64} \\ 0 \end{array}$$

③

$$\begin{array}{r} 122 \\ 2 \overline{) 245} \\ \underline{2} \\ 4 \\ \underline{4} \\ 5 \\ \underline{4} \\ 1 \end{array}$$

④

$$\begin{array}{r} 131 \\ 4 \overline{) 524} \\ \underline{4} \\ 12 \\ \underline{12} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 124 \\ 8 \overline{) 999} \\ \underline{8} \\ 19 \\ \underline{16} \\ 39 \\ \underline{32} \\ 7 \end{array}$$

⑥

$$\begin{array}{r} 152 \\ 6 \overline{) 912} \\ \underline{6} \\ 31 \\ \underline{30} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 245 \\ 4 \overline{) 980} \\ \underline{8} \\ 18 \\ \underline{16} \\ 20 \\ \underline{20} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 132 \\ 5 \overline{) 660} \\ \underline{5} \\ 16 \\ \underline{15} \\ 10 \\ \underline{10} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 132 \\ 2 \overline{) 264} \\ \underline{2} \\ 6 \\ \underline{6} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

①

$$\begin{array}{r} 66 \\ 5 \overline{) 332} \\ \underline{30} \\ 32 \\ \underline{30} \\ 2 \end{array}$$

②

$$\begin{array}{r} 142 \\ 2 \overline{) 284} \\ \underline{2} \\ 8 \\ \underline{8} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

③

$$\begin{array}{r} 100 \\ 9 \overline{) 908} \\ \underline{9} \\ 0 \\ \underline{0} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

④

$$\begin{array}{r} 25 \\ 5 \overline{) 128} \\ \underline{10} \\ 28 \\ \underline{25} \\ 3 \end{array}$$

⑤

$$\begin{array}{r} 123 \\ 4 \overline{) 492} \\ \underline{4} \\ 9 \\ \underline{8} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 53 \\ 4 \overline{) 214} \\ \underline{20} \\ 14 \\ \underline{12} \\ 2 \end{array}$$

⑦

$$\begin{array}{r} 88 \\ 8 \overline{) 707} \\ \underline{64} \\ 67 \\ \underline{64} \\ 3 \end{array}$$

⑧

$$\begin{array}{r} 304 \\ 3 \overline{) 912} \\ \underline{9} \\ 1 \\ \underline{0} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 208 \\ 4 \overline{) 833} \\ \underline{8} \\ 3 \\ \underline{0} \\ 33 \\ \underline{32} \\ 1 \end{array}$$

①

$$\begin{array}{r} 68 \\ 8 \overline{) 546} \\ \underline{48} \\ 66 \\ \underline{64} \\ 2 \end{array}$$

②

$$\begin{array}{r} 105 \\ 7 \overline{) 741} \\ \underline{7} \\ 4 \\ \underline{0} \\ 41 \\ \underline{35} \\ 6 \end{array}$$

③

$$\begin{array}{r} 402 \\ 2 \overline{) 804} \\ \underline{8} \\ 0 \\ \underline{0} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

④

$$\begin{array}{r} 35 \\ 9 \overline{) 315} \\ \underline{27} \\ 45 \\ \underline{45} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 213 \\ 3 \overline{) 639} \\ \underline{6} \\ 3 \\ \underline{3} \\ 9 \\ \underline{9} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 33 \\ 5 \overline{) 168} \\ \underline{15} \\ 18 \\ \underline{15} \\ 3 \end{array}$$

⑦

$$\begin{array}{r} 247 \\ 3 \overline{) 743} \\ \underline{6} \\ 14 \\ \underline{12} \\ 23 \\ \underline{21} \\ 2 \end{array}$$

⑧

$$\begin{array}{r} 101 \\ 6 \overline{) 606} \\ \underline{6} \\ 0 \\ \underline{0} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 45 \\ 9 \overline{) 410} \\ \underline{36} \\ 50 \\ \underline{45} \\ 5 \end{array}$$